Find this product by hand Find this product A*B
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So we don't divide, instead we multiply by an inverse.



Multiplicative Identity Matrix

For an n X n square matrix, the multiplicative identity matrix isann X n
square matrix /, or /,,, with 1’s along the main diagonal and 0’s elsewhere.
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Solve this equation without using division or fractions.
(' +6x=45 -~
)(, = 75

You can multiply both sides by the inverse of 6 to

get the same answer you would get if you had

divided both sides by 6 or as if you had multiplied both
sides by 1/6.

Find each.
3, St = b. -12.(-12)"* = T

51 and (-12)"  are called

Multiplicative Inverses of 5 and -12,
respectively.

Multiplicative Inverse of a Matrix
If A and X are n X n matrices,and AX = XA = [ then X is the multiplicative
inverse of A, written A~ 1.

AAT = ATlA= 1
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that when you multiply
the two matrices A and X
you get the Identity
Matrix as a result.



Show that matrices A and B are inverses
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Are these two matrices inverses?
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equal the identity matrix

these matrices MUST
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Are these two matrices inverses?
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AB = Since AB doesn't equal the Identity Matrix
NI they are NOT inverses.

To find the inverse of a matrix you can use a graphing calculator
to do the following:

matrix

Choose this option:

Name 1:[A]
You will see the following on the home screen

(Al
then press , you will see the following on the home screen: [A]”

25 -3

Now press enter and you will get the inverse of A: [ =% 5 :|



